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Choose the correct sentence.

(1) It is high time he will start earning
(2) It 1s high time he started earning

(3) It 1s high time he starts earning

(4) It 1s high time he has started earning
forforfiga o & == w1 ad gm sy gro 27

(1) 9,2, %

(2) @©,w,d

(3) #,8,d

@ 49,49 %

1[Option ID=1501]
2[Option ID=1502]
3[Option ID=1503]
4[Option ID=1504]

Sl. No.2
QBID:1007002

From among the four options given. choose the correct sequence of the four phrases given

below, to make a meaningful sentence :

(A) I am rediscovering
(B) On the nsing COVID numbers
(C) Nervously, with one eve
(D)  The joy of travel, albeit
(1) (D). (B). (A). (C)
(2) (C), (&), (B), (D)

(3) (B). (C)., (D). (A)




) (A). (D). (C). (B)

ST © Ul EE T s AT 9T e 1Sl e s 8 38 o e 87
(1) deEs

(2) U

(3) =AM

(4) W@ EH

1[Option ID=1505]
2[Option ID=1506]
3[Option ID=1507]
4[Option ID=1508]

Sl. No.3
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Which of the following 1z a one-word substitute for ‘a soldier who fights for the sake of
money ?

(1) Hireling
(2) DMercenary
(3) Assasin
(4) Hitman
fa=feriad 9 & T wreg =1 Tl 1 o ufads 38 @
(1) ¥
(2) =l
(3) =T

(4) HMHI

1[Option ID=1509]
2[Option ID=1510]
3[Option ID=1511]
4[Option ID=1512]

Sl. No.4
QBID:1007004

Identify the correct form of indirect speech of the following sentence.

The policeman said to us, “Where are vou going?”

(1) The policeman asked us about our destination.

(2) The policeman requested where are you golng.




() The policeman ordered us to go where he wanted.
(4) The policeman enquired where we were going.

a1 U 3evd o faua i S e a1 e, 3H M Fad 8 !
(1) HEAH

(2) faem

(3) @

(4)  faa fagiao

1[Option ID=1513]
2[Option ID=1514]
3[Option ID=1515]
4[Option ID=1516]

Sl. No.5
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In the sentence below a part 1s italicised. Which of the choices as a replacement will improve
the sentence?

I hate as you can sing so well and I can't.

(1) hate

(2) hate 1t that

(3) hate that

(4) hate 1t

T=feriiaa == =+ 98 9 U ey

A) e sifafea 32 2 s

(B) i eguH ag 1 uieg @

(C) =g =i den w1efi H Ted % =g ger

(D) g fordi &, formd foma afie, faae

(E)  A90d] Jel 0, el e T wee foran

T feu e fawmedl 4 & w8 39 =5 =g4 Fife

(1) (B). (C), (D). (A). (E)

(2)




(D). (C)., (B). (E). (A)
(3) (C) (E) (A (D). (B)

@) (E), (D). (B). (A). (C)

1[Option ID=1517]
2[Option ID=1518]
3[Option ID=1519]
4[Option ID=1520]

Sl. No.6
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From among the four options given. choose the preposition that will be the best fit for both

the blanks 1n the sentence given below :

When vou bring home a pet. it soon becomes a member —

as devastating as the death ————— any loved one.
(1) off
(2) 1n
(3) of
(4) with

Frerferfiaa & @ vy a1 faffea Hifse -

(1) % |1 TH T8 e L EH| 2
(2) e = 94 ved | 98 e

(3) Taam 9@ = 32ET % wgk T A |
(4) WEA F1 faue %a 3|

1[Option ID=1521]
2[Option ID=1522]
3[Option ID=1523]
4[Option ID=1524]

the famly and its loss 1s

Sl. No.7
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Mateh List I with List IT

List I List IT
(word) (inked word)
(A) letters (Il time
(B) papers (IT) printed
(C) cards (III) friends
(D) clock (TV) basket

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(I). (C)-(IV), (D)-(III)
(2) (A)-(IV). (B)-(II), (C)-(I), (D)-(I11)
(3) (A)-(III), (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-IV). (B)-(IID). (C)-(D). (D)-(IL)
1 YA Eed1 FH FTell Bl o ToTu U 9168 F150
(1) =
(2)  STeHET
(3) ¥
(4) Frd

1[Option ID=1525]
2[Option ID=1526]
3[Option ID=1527]
4[Option ID=1528]

Sl. No.8
QBID:1007008

Choose the correctly spelt word.
(1) Wharewhithal
(2) Wherewithal
(3) Wherewital
(4) Where whital

=14 |l ¥Is4 "3l 1 qaiarE 51 27
(1) TE=%

(2) #HM




3 uf
(4) w4

1[Option ID=1529]
2[Option ID=1530]
3[Option ID=1531]
4[Option ID=1532]

Sl. No.9
QBID:1007009

Choose the correct option to make a meaningful sentence.

The paragraph should not ———— five hundred words.

(1) Accede

(2) Exceed
(3) Access

(4) Excess

el I | g 111 faers fifso
-1 HHI-11
(A) ¥ (I) 9r=4
(B) faem (I)  STATE0]
(C) YrRETH (IIT) 34
(D) i3 (Iv) e

4= fau o faereal 4 3 w2l 3w =1 =24 il

(1) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(2)  (A)-(II). (B)-(IV). (C)-(D), (D)-(I1I)
(3) (A)-(III), (B)-(ID). (C)-(IV), (D)-(I)

@) (A)-(IV). (B)-(III). (C)-(I). (D)-(1I)

1[Option ID=1533]
2[Option ID=1534]
3[Option ID=1535]
4[Option ID=1536]

Sl. No.10
QBID:1007010




Choose the correct passive volce form of the following sentence :

People are destroving large areas of forest every day.

(1) Large areas of forest was being destroved every day.
(2) A large areas of forests were destroved everv day by the people.
(3) Large areas of forest are being destroyed every day.

(4) Every day people have destroyed large areas of forest.
faferfiga & & geTa T -
A) T g e
(B)  AT@maiE, 4 s aigh
(C) Gkl —=l==h] 18 =11
(D) i aet sl faasn
(E) il Irferat s =4 diefi

i Tau o faereai © & wdl 3w %1 =5 fifs
(1) (A). (C) 31T (D)
(2) (A). (B) 31 (E)
(3) (B), (C) 31T (D)
(4) (C). (D) 3 (E)

1[Option ID=1537]
2[Option ID=1538]
3[Option ID=1539]
4[Option ID=1540]

Sl. No.11
QBID:1007011

Former Indian ecricket captain Gundappa Ranganatha Vishwanath has penned his
autoblography titled —————, co-authored by zenior journalist R Kaushik.

(1) Playing It My Way
(2) The Test of My Life

(3) Wrist Assured : An Autobiography




) 981 and Bevond

gd awedtd e FeE e Oy favaay 3 decigs aftd uEEn SR FIvE % /e Sl e
wfiden & foref

(1) g HE A

(2) @ 1% HIE AIgs

(3) Trezuedid ; ua siEEmE
(4) 281 Ug fode

1[Option ID=1541]
2[Option ID=1542]
3[Option ID=1543]
4[Option ID=1544]

Sl. No.12
QBID:1007012

Who has been elected as the new President of South Korea to replace incumbent President
Moon Jae-in?

(1) Lee Jae-mung
(2) Ban ki-Moon
(3) Hong Joon-pyo
(4) Yoon Suk-veol
e T2l e 91-39 o £4H W gfaror i s F91eeafd B g=
(1) @S-
(2) =14 Fl-44
(3) 2 Eg -7
(4) IH gF-TasE

1[Option ID=1545]
2[Option ID=1546]
3[Option ID=1547]
4[Option ID=1548]

Sl. No.13
QBID:1007013

Who has become the first engineer to become the chief of army staff?

(1) Lieutenant General Mano] Pande

(2) Lieutenant General B.S. Raju




(3) Lieutenant General Manoj Mukund Narvane

(4) Commander-in-chief Upendra Dwived:
9 Teell Ssfif-t 19 & 9l Yeraneae) 9917

(1) cIffee SHTe B 9Ue

(2) elfpe=e st ol vE. T

(3) itz sive weis gape Jral

(4) e & =i 302 fGad

1[Option ID=1549]
2[Option ID=1550]
3[Option ID=1551]
4[Option ID=1552]

Sl. No.14
QBID:1007014

Who has won the 2022 Laureus Breakthrough of the Year prize?
(1) Valtentino Rosai
(2) Emma Raducanu
(3) Tom Brady
(4) Neeraj Chopra
eATTeE sl 31 @ $31 grEeTt 2022 fha sfien?
(1) a2 T
(2) UHEITEHA
(3) @ueEl
(4) v =Eme

1[Option ID=1553]
2[Option ID=1554]
3[Option ID=1555]
4[Option ID=1556]

Sl. No.15
QBID:1007015

Which of the following has launched the world's first index family focused exclusively on
tracking the price of carbon removal?

(1) NIFTY




(2) SENSEX

(3) NASDAQ
(4) NABARD

Frefetfigd € & e #1eH 99394 * 5ed 1 91 eTH o o fovm &0 4 aian #f=d fava % guw =
Y fra?

(1) e
(2) #HHFH
(3) e
(4) ArarE

1[Option ID=1557]
2[Option ID=1558]
3[Option ID=1559]
4[Option ID=1560]

Sl. No.16
QBID:1007016

Find the next number

19, 31.45.61, __
(1) 31
(2) 79
(3) 90
(4) 84

Ferferfia speren © sprell dem sy

19, 31, 45, 61,
(1) 81
(2) 79
(3) 90
(4) 54

1[Option ID=1561]
2[Option ID=1562]
3[Option ID=1563]
4[Option ID=1564]

Sl. No.17




QBID:1007017
If MONEKEY 1= coded as OPNZFL, How will PIGEON he coded?

(1) EREIGQP
(2) HJIQFPM
(3) GJOPFR

(4) REKIPQG

7fg MONKEY #1 OPNZFL # 9 # Fizag {21 911 2, @1 PIGEON % %4 #asg =g strom?

(1) RKIGQP
(2) HJIQFPM
(3) GJOPFR
(4) RKIPQG

1[Option ID=1565]
2[Option ID=1566]
3[Option ID=1567]
4[Option ID=1568]

Sl. No.18
QBID:1007018

Choose the pair the best represents a similar relationship to the one expressed in the original
pair of words.

Cobbler : Shoe

(1) Carpenter : Wood

(2) Mason : Brick

(3) Contractor : Building

(4) Potter : Mud

T forfiaa wreai = et 7w o =afsrd da9 £ guEa #1 5aia0 59 8 g qd 4 g 30 F 9H

(1) 38 : T
(2) fow 4

(3) S%ar : ¥ad

(4) FEW: ﬁ:‘@




1[Option ID=1569]
2[Option ID=1570]
3[Option ID=1571]
4[Option ID=1572]

Sl. No.19
QBID:1007019

Sham left his home and walked 12 km towards South - East. Then he turned right and
walked another 8 Km. Again he turned right and ran for 15 Km. Then he turned 45° in
clockwise direction and continued walking. In which direction he 1s walking now with respect
to starting point.

(1) DNorth-East
(2) North
(3) South

(4) North-West

AT A9 B H e i afem-ud feen 8 12 fodl =en) i g aifed g2 sii 8 fohdl, i =) ag
affed g2t i 15 Tl ok dren e 3z ol & ser & faon 8§ 45° gu =R =emn s v o6 92 wwaE B
&1 der1 4 fore faen | =e w1 27

(1) I-ud
(2) X

(3) &l

(4) FH-TTEH

1[Option ID=1573]
2[Option ID=1574]
3[Option ID=1575]
4[Option ID=1576]

Sl. No.20
QBID:1007020

Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s
the only daughter of my brother. How 1s woman related to Ram?

(1) Aunt

(2) Mother
(3) Wife

(4) Grand mother




Ty H 3397 Fel T 3ae amd o aigen 9 @ 3aehl v ol @, S w0t arg ) geelte |8 21 a1 38 ulEen #
T F1 Ha Y 27

(1) ==

(2) =i

(3) udl

(4) =E

1[Option ID=1577]
2[Option ID=1578]
3[Option ID=1579]
4[Option ID=1580]

Sl. No.21
QBID:1007021

A family consists of a mother. a father, and some children. The average age of the members of
the family 1s 20, the father 1s 48 years old. and the average age of the mother and children 1s
16. How many children are in the family?

(1 8
2) 7
3) 9
(4) 6

e uiET O U u, vk a1 SR e a6 uiEn & |l wEe 1 iea 31 20 2, foan o sy 48 9 2 s
i qet =] il 3iEd 91 16 34 21 afEm 4 fhdd a7

(1) 8
@2 7
3 9
(4) 6

1[Option ID=1581]
2[Option ID=1582]
3[Option ID=1583]
4[Option ID=1584]

Sl. No.22
QBID:1007022

What iz the value of K . for which one root of the quadratic equation Kx” —14x +8=0 is six
times the other?

1) 1




(2) 9
3) 3
(4) 4

afg fanda afiey) Kx® —14x+8=0 1 UF U g6 8§ 3: A 2 dl K %19 31 87

(1) 1
(2) 2
(3 3
(4) =

1[Option ID=1585]
2[Option ID=1586]
3[Option ID=1587]
4[Option ID=1588]

Sl. No.23
QBID:1007023

A dealer sold a bicycle at a profit of 10%. Had he bought the bicycle at 10% less price and sold
it at a price ¥ 60 more, he would have gained 25%. The cost price of the bicycle was :

(1) 2,600
(2) T 2.000
(3) ¥ 2.200
(4) ¥ 2,400

U Eie A U AEfHA 10% ey W =] 3fs 397 Al 10% +9 geg 4 @i 26l 3t 38 T 60 A sl
e 9L sf=el, d1 39 25% %1 &9 21| J5fFe 1 wa-geg fae o -

1) ¥ 2,600
(2) E 2000
3) %2,200
@) 2,400

1[Option ID=1589]
2[Option ID=1590]
3[Option ID=1591]
4[Option ID=1592]

Sl. No.24
QBID:1007024




In a business, ‘B’ 1s a sleeping partner and * A’ 1s a working partner. ‘4" invests ¥ 5,000 and
"B’ mvests ¥ 6,000. 'A’ receives 12%% of profit for managing the business and the

remaining profit 1s divided in proportion to their capitals. A's share of profit in a total profit
of T80 18 :

(1) 350
(2) 400
(3) %420
(4) 460
U =gagE ° B v faftry afien 2 3 A v wEie aefEn 210 A 5,000 F1 FEw @ i

"B’ ¥ 6,000 1 FE9 01 2| sH9™ F1 UE G906 F 90 A F AT 12%% oTH Bl & ST 99 @1y

I Gl o ST § @iz faan sren 2 =i et ey T 880 2ol A w8 e fam g -

(1) ¥350
(2) T 400
3) Y420
4) T 460

1[Option ID=1593]
2[Option ID=1594]
3[Option ID=1595]
4[Option ID=1596]

Sl. No.25
QBID:1007025

A train 800 metres long 1 running at a speed of 78 Km per hour. If it crosses a tunnel in
1 minute, then the length of the tunnel (in metres) 1s :

(1) 130
(2) 360
(3) 500
(4) 540

800 Wit el ush o 78 fo 1. feren o =t & =ret well 21 afe e Fodl g = ue fae | o] @ 91 g
T (wier W) TR 27

1) 130




(2) 360

(3) 500

(4) 540

1[Option ID=1597]
2[Option ID=1598]
3[Option ID=1599]
4[Option ID=1600]

Sl. No.26
QBID:1053001

When two monochromatic waves of intensity ‘T interfere with each other, the intensity at the
point of constructive interference is

(1) 0

(2) 21

(3) 051

(4) 41

54 1 iz it g1, whavll @ sl F 2 7@ s st g wodse @ anf

(1) 0

(2 21
(3) 051
(4) 41

1[Option ID=601]
2[Option ID=602]
3[Option ID=603]
4[Option ID=604]

Sl. No.27
QBID:1053002

In a sound wave, which gquantity is transferred from one point to the other?
(1) Energy

(2) Matter

(3) Both Matter and Energy

(4) Pressure

foreft eafa 70 &, =h amn o fog @ @ g o Tt o T 27

(1) FHl

(2) wzid

(3) w3 e, Fi




(4) <

1[Option ID=605]
2[Option ID=606]
3[Option ID=607]
4[Option ID=608]

Sl. No.28
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To produce a path difference of i/4 between the ordinary and the extraordinary rays in a
quarter wave plate made of calcite, what should be the thickness “t” of the plate (x, and g,
are the refractive indices of ordinary and extraordinary rays, respectively)?

A

1) E=————=
) 4Ufﬂ_affe,]

L =——m
) 2{1'”0 =3 !He}

A

s R
) 2p, + 1)

Femnse (Caleite) $t s =g @ ufze foameht 9 ¢ 81 39ht damm i @ o & §= d
414 T 3099 HA F 0 " A AW (g, R FER AT FEGE TN & 0= 2)

A

t=—"
e 4{;”& — K, ,]

L=—-
) 2{1”0 =3 f”e}

A

t=—F——
) 20p, + pe)

1[Option ID=609]
2[Option ID=610]
3[Option ID=611]
4[Option ID=612]

Sl. No.29
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A steady current is flowing through a solenoid after connection with a battery. If an iron core
1s placed into the solenoid, the current will

(1) first increase then decrease
(2) 1increase

(3) decrease




(4) remailn constant

420 A Hawa % ag Tl wfeafors @ e v smfad g yanfea 21 @ 21 1fs ufefasn U #:iE o g @
feram <1/ &1 eI

(1) e del, w d g

(2) el

(3) =

(4) foom = w2

1[Option ID=613]
2[Option ID=614]
3[Option ID=615]
4[Option ID=616]

Sl. No.30
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The uncertainty in the position of a neutron travelling with a speed of 5 x 108 m/s 1s
(1) 64 x1015m
(2) 6.4x10¥m
(3) 6.4x10%m
(4) 064 x 10 m
5 x 106 1. /@ &1 = 9 fd F2d 7u =g & Feafa i sifraaa #=0 &
(1) 64x1015m
(2) 64x10¥m
(3) 6.4x10% m
(4) 0.64x10% m

1[Option ID=617]
2[Option ID=618]
3[Option ID=619]
4[Option ID=620]

Sl. No.31
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According to the band theory of solids, what does a semiconductor material has?

(1) a partly filled valence band. a totally empty conduction band and a wide forbidden
band

5 2 completely filled valence band, a partially filled conduction band and a narrow
) forbidden band

a completely filled valence band, a totally empty conduction band and a very wide

() forbidden band

(4)




a partly filled valence band and totally empty conduction band

St 3 g (Fz) g ¥ s, et e v # A 27
(1) UF AifSeh &9 & qfid Gareehar 95, T qia: fis T o i s faega afda ds

(2) O oTd: R HATSRAL o, Ueh 719 B9 H Uid Fre s 3 vk w5l afed d2
(3) e YUTd: YA HATSIERA] o2, Uk Uid: Fh |9Ted s 3R v Hid g afsia o
(4) e AT B9 H gfod HaTsFal s g i quia: fek =red 62

1[Option ID=621]
2[Option ID=622]
3[Option ID=623]
4[Option ID=624]

Sl. No.32
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When a spinless particle of mass ‘m’ is moving in a 3D-Cubic box potential

Statement (A) :  The ground state is non-degenerate.

Statement (B) :  The first excited state is triply degenerate.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statements are NOT correct
(2) Statement (A) 1s NOT correct and (B) 1s correct
(3) Statement (A) is correct and (B) 18 NOT correct

(4) Both statements are correct

e g A fRr Mo E

T T ‘m’ A T qF F:0 3D 79 =t 799 (3D Cubix box potential) & 7w e & &t 36

FOA1:  HE SEEA SFATHE B 2

Fa9 [1:  ggelt 3nfaa staen Baa suge (Triply degenerate) BT 81

IR FYA F A |, J 5 T FEeT § F w9E 39T I F =99 i
(1) === 1 3 11541 =58 8
(2) %A I 3R IEH Terd 2

(3) 94 T4 2, cifehd s9q I 7eld 2




(4) o 1 vreta 2, S oA T 0 2

1[Option ID=625]
2[Option ID=626]
3[Option ID=627]
4[Option ID=628]

Sl. No.33
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In Gibbs free energy equation i.e. AG = AH — TAS .AS is
(1) change in solubility

(2) change in enthalpy

(3) change in entropy

(4) total change in enthalpy and entropy

firest g el wfish1 AG = AH — TAS 1 AS f=2 -
(1) facmd 8 giEd

(2) wEed (qof Zen) H gfiada

(3) U= d uirEds

(4) v=ed] S umd e divady

1[Option ID=629]
2[Option ID=630]
3[Option ID=631]
4[Option ID=632]

Sl. No.34
QBID:1053009




Electromagnetic wave hits the boundary (shown in the figure as mesh in the xy plane) at
normal incidence and travelling from medium 1 to medium 2. A part of it. 1s reflected. The E
and B components and their directions are marked in both the mediums 1 and 2. The indices
I. R and T represent “incident”, “reflected” and “transmitted” components. respectively and v
iz the velocity.

=
©
®
&

v:&m\~
T

=)
=3

7
-

5
= -
o
e
- s

Interface {WJ

The boundary conditions in this case are given by

) Dy =D;
(i) E,=E,
(i) By = By

(1v) EB1 )/ 14 = (B3 ]"f Mo

Which two boundary conditions are not valid in this case?
(1) (1) and (111)
(2) (ii) and (iv)
(3) (1) and (1v)
(4) (ii) and (iii)

547 [, R #11 T wiiad, Tatad 317 99 929 Z90d 2, v 37 2|

@ Er
fi s

i z
&

Interface

=g foorfa § 31 72 ufdia ufasg 2

(1) Di = Dy
i) E=E,
(1) B = By

@ (B wm=(B:) ey
F1 f 1 afceim fsy o feerfa § e 20

(1) (i) 37 (iii)




(2) (i) W (iv)
(3) () 37 (iv)
(4) (i) 3 (iii)

1[Option ID=633]
2[Option ID=634]
3[Option ID=635]
4[Option ID=636]

Sl. No.35
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Hall effect can be used for the determination of

(1) Temperature of the charge carriers

(2) Mohility of the charge carriers

(3) Transition of the charge carriers

(4) Size of the charge carriers

FrAfetfiaa 0 4 fopaeh Taio = foTu &7 wara = 390 fohan < |l 27
(1) SHE AT H ATHH

(2) HEY el 6 fasfierd

(3) T ATEeh] 1 FFnvl

(4) AT ATEH] H HTHR

1[Option ID=637]
2[Option ID=638]
3[Option ID=639]
4[Option ID=640]

Sl. No.36
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If a current density J(x) is in an external magnetic flux density B(x),. then the total force on
the current distribution, based on the elementary force law, is

J(x) .3
(1) sz‘mdx

(2) F =J(x)- Blx)
3) F = [J{x]x B(x)d®x

(4) F =J(x)- B*(x)

Tfg U wEl geEhE sAtaE (Fed) @99 Blx) § fage aw wbea J(x) &9 wates uw fmgea &
AR faem o e W 5 = T A

(1)




J(
e IB;}

(2) F =4J(x)- Blx)
3) F = [J(x)x Blx)d®
(4) F =J%x)- B*(x)

1[Option ID=641]
2[Option ID=642]
3[Option ID=643]
4[Option ID=644]

Sl. No.37
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The bond energy with an increase 1n bond length.

(1) decreases

(2) 1increases

(3) may either increase or decrease
(4) does not change

AEg-3ed 4 gfg 8 sraa -Fei

(1) =l 2

(2) #edi?

=

(3) !1131@3!?{:}?1?2!11?:1%?
(4) ufrafda 421 2l

1[Option ID=645]
2[Option ID=646]
3[Option ID=647]
4[Option ID=648]

Sl. No.38
QBID:1053013

If a is the lattice parameter, the atomic diameter of a BCC crystal can be determined as:

(1) a
@
(3) ﬁ

1
(4) avi

1

Ifg ‘g’ e U=E & a9 s, =@ #. ((BOC) e w1 wamwias =m = 4§ e 90 8 fgiiE
fFm wmasa B

(1) a




(3) =

1
@ b

1[Option ID=649]
2[Option ID=650]
3[Option ID=651]
4[Option ID=652]

Sl. No.39
QBID:1053014

Choose the correct option for the following statements:

Statement (A) :  Enthalpy 1s an extensive property of the system.

Statement (B) :  Helmholtz free energy is an intensive property of the system.

In the light of the above statements. choose the correct answer from the options given below :
(1) Statement (A) and (B) are correct
(2) Statement (A) and (B) are NOT correct

(3) Statement (A) 1s NOT correct and (B) is correct

(4) Statement (A) is correct and (B) 13 NOT correct

= 2w fou o E) wE wem g

w1 et R oft e Tt o R

w1 11:  Eowgiees g I et ot Fewm =1 e 7o R

I oA & A 4, 99 Gy T e § F 99" 30w I w1 =99 i
(1) e I3 [ =H 92 2

(2) =9 I 3 I3 Terd 2

(3) e I7Terd 2, cifehd e I He 2

(4) e[ THE 2, offehd ed I 2

1[Option ID=653]
2[Option ID=654]
3[Option ID=655]
4[Option ID=656]




Sl. No.40
QBID:1053015

The packing efficiency (%) of a simple cubic unit cell 1s about
(1) 38.1
(2) 52.4
(3) 68.0
(4) 72.6

U W A T Al (Rfaen e 361 ) il dper 2er (%) e e @ -

(1) 38.1
(2) 524
(3) 68.0
(4) 72.6

1[Option ID=657]
2[Option ID=658]
3[Option ID=659]
4[Option ID=660]

Sl. No.41
QBID:1053016

Curie temperature of a given magnetic material 1s 100 K. For this case. choose the correct
statement.

(1) All the atomic magnets in the material get aligned along the same direction.

(2) Inverse susceptibility plot versus temperature 1s hnear with a slope Te..

(3) The susceptibility of the material becomes doubled when it is cooled from 300 K to
200 K.

(4) Inverse susceptibility plot versus temperature is linear with an intercept Te.
fau Mo gra wgrd w1 =g A 100 K 2, 39 feufa 5 w6 e 9fm)

(1) @l wenTivaes wraes vere 1 v ) fawn O srgEifea @ w2

(2) wfte™ guiem iR @A & = 7% e 2 fmd w=om T 2

(3) ward =l garfEd =1 W g & ST @ 9 AW 300 K # 200 K 92w |l 2

(a) Uferetm gnfeen siw a6 o= o e 2 e smiea T2

1[Option ID=661]
2[Option ID=662]
3[Option ID=663]
4[Option ID=664]

Sl. No.42
QBID:1053017




In which thermodynamic process. there 1= no transfer of heat between the system and the
surroundings?

(1) Isothermal
(2) Isobaric
(3) Adiabatic

(4) In both isothermal and 1sobaric

o Freqmriorers im0 a3 (Taeen) s ufEw = s S 1 i Lt 98 g
(1) |5

(2) HuEnE qaaTiF (SAEErETE)

(3) %ary

(4) HUArd 317 gueEl -1 |

1[Option ID=665]
2[Option ID=666]
3[Option ID=667]
4[Option ID=668]

Sl. No.43
QBID:1053018

Match the following:

Unit cell dimensions Crystal system
(A) a=bzcand a=F=7=90 () Cubie
(B a=b=2cand a=p=9" and r =120 (II) Tetragonal
(C) a=b=cand e=f=y=90 (IIT) Rhombohedral
D) s=b=cand a=g=y<9 (IV) Hexagonal

Choose the correct answer from the options given below :
(1) (A)-ID). (B)-(IV), (C)-(D), (D)-(IIL)
(2) (A)-IV). (B)-aD), (C)-(IID). (D)-(D)
(3) (A)-(IID), (B)-(1), (C)-(ID), (D)-(IV)
(4) (A)-I1II), B)-IV). (C)-D). (D)-AD)




g1 % e = geh-11 e i :

Hq1-I
(A) a=bzc3M ag=F=y=00

B) a=bzc 3 g=F=90"31 y=120°

() a=h=cdN a=f=y=00
D) a=b=c 3R a=F=y=90

4= Teu o faerea 4 | 9 39 %1994 Fifen
(1) (A)-ID. (B)-(IV). (C)-(D. (D)-(IIL)
(2) (A)-(IV). (B)-(II). (C)-(I1L). (D)-(I)
(3) (A)-(1ID), B)-(D). (C)-(ID), (D)-(IV)
(4) (A)-IID). (B)-IV). (C)-(D). (D)-(II)

1[Option ID=669]
2[Option ID=670]
3[Option ID=671]
4[Option ID=672]

11
@ =
(I) faoaeans
(IID) Eremaae

(IV) W=l

Sl. No.44
QBID:1053019

The electric field inside a conducting hollow sphere 1s

(1) More than outside

(2) Less than outside
(3) Zero

(4) Infinite

ferafi =reTe Wil el < 3151 1 fora &=
(1) aTetH A g 2

(2) e H %4 gran 2

(3) IFEEME 2

(4) FHA< B2

1[Option ID=673]
2[Option ID=674]
3[Option ID=675]
4[Option ID=676]

Sl. No.45
QBID:1053020

Excitons are

(1)




excited electrons
(2) excited holes
(3) 1onized particles

(4) electron-hole bound state

US| w4 £ 7
(1) swfsm o=
(2) 3wfwma #ea (Holes)
(3) A
(4) sEzA-T THEY e
1[Option ID=677]
2[Option ID=678]

3[Option ID=679]
4[Option ID=680]

Sl. No.46
QBID:1053021

Identify the correct expression for Ampere's circuital law from the following equations:
(1) fﬂ.rsr = g, I
(2) f.l’i Al =2 1T

(3) f;; Al

ol
(4) ]':H df = 2u, I

frferfiaa wfreron 4 & wedrn o ufekdl fafoefi (afdee) fram =1 a8 a0 w sifsas w0 aren @i £6
q1a?

(1) fl;s.ru = p I I

(2) PBdAl =2u,01

(3) PBAl = p,I

(4) JSH df =2 I

1[Option ID=681]
2[Option ID=682]
3[Option ID=683]
4[Option ID=684]

Sl. No.47
QBID:1053022

BCS theory can be used to explain the superconductivity of

(1) Type — I superconductors
(2) Type — II superconductors

(3)




Both Type I — and Tyvpe — II superconductors
(4) Neither Type I superconductors nor Type — II superconductors
a1, 1. g, (BCS) faara =1 3w f=ferfiad i sifa=rersran samenfaa s o foro foansn w2 -
(1) 2E9-1 sAfa=re
(2) 29 -II sAfa=mere
(3) @I, 2139-1 3 2139- 1T SAf=ret
(4) A 1 2g-1 sif=rners 3 A & 2Ru-11 sifderes

1[Option ID=685]
2[Option ID=686]
3[Option ID=687]
4[Option ID=688]

Sl. No.48
QBID:1053023

The phonon 1s a quantum of 1n a crystal lattice.

(1) Elastic wave

(2) Electromagnetic wave

(3) Longitudinal wave

(4) Transverse wave

forelt formemt wo= |, WM T U = 27
(1) FedrEy qo

(2) Taeg e @

(3) HFaed @

(4) FHLTE q

1[Option ID=689]
2[Option ID=690]
3[Option ID=691]
4[Option ID=692]

Sl. No.49
QBID:1053024

The Lande’s g factor of an ion in the 5I; state 1s
(1) —-10.606

(2) -1.25

(3) 1.25

(4) 10.606

*Ts HFE1 % HPH % IS g (Lande’s g) 72 1 AH € -




(1) -10.606
(2) -1.25
(3) 1.25
(4) 10.606

1[Option ID=693]
2[Option ID=694]
3[Option ID=695]
4[Option ID=696]

Sl. No.50
QBID:1053025

Miller indices 1s a group of numbers that indicates the orientation of a plane or set of
parallel planes of atoms 1n a crystal.

1 2

(2) 3

3) 4

(4) 6

fier siefien foherfi Hensil &1 v oz 2 S faredi Tt § aoumpsdl o vs det @1 i deli o fo-famam =
e #7d1 2 -

1 2

(2) 3

(3) 4

(4) 6

1[Option ID=697]
2[Option ID=698]
3[Option ID=699]
4[Option ID=700]

Sl. No.51
QBID:1053026

What are the units of dipole moment?
(1) Debyve and Farad
(2) Farad and Newton
(3) Nm and Coulomb — meter

(4) Debye and Coulomb — meter
i ga ATl & " v
(1) =4 3N

(2) g e




) Nm 3R e -
(4) =l 37R Feres Hiet

1[Option ID=701]
2[Option ID=702]
3[Option ID=703]
4[Option ID=704]

Sl. No.52
QBID:1053027

What 1s the molecular geometry of CCls?
(1) Tetrahedral

(2) Trigonal planar

(3) Hexagonal

(4) Linear

CCly il syrfuas sanfufa i 27

(1) FqEeThE

(2) Tkl J9ae

(3) HZHIY
(4) Thigs

1[Option ID=705]
2[Option ID=706]
3[Option ID=707]
4[Option ID=708]

Sl. No.53
QBID:1053028

The 1onization potential and electron affimity of 1odine are 10.5 eV and 3.43 eV, respectively.
What 1s the electronegativity of 10dine?

(1) 2.48
(2) 3.48
(3) 1.48
(4) 0.48
HETEA F1 97 f99a 3t ser=eia T9a1 FH9: 10.5 eV 301 3.43 eV §| mardm i Forfaegedt 7= anfi 7
(1) 2.48
(2) 3.48
(3) 1.48
(4) 0.48




1[Option ID=709]
2[Option ID=710]
3[Option ID=711]
4[Option ID=712]

Sl. No.54
QBID:1053029

Which of the followings, correctly represents the allotropes of sulphur?
(1) Rhombiec and Orthogonal

(2) Rhombic and Monoclinie

(3) Monoclinic and Orthogonal

(4) Monochnic and Hexagonal
Frafarfias § @ 19 719w % FAWET (TEEE) B T8 TE 6w 87
(1) fawoeras s daehmfig

(2) TawaeTae 3iW U=

(3) UFAdIE N s o

(4) UFAAE 3 TZHP

1[Option ID=713]
2[Option ID=714]
3[Option ID=715]
4[Option ID=716]

Sl. No.55
QBID:1053030

Which order of the halide ion does show the descending basicity?
1) Bro€l »=F 5 F

(2) I >Br >Cl” > F~

(3) I" <Br <ClI" < F~

() Br <ClI” < F" <I

fefetfiaa 1 6 2emse A =1 0 o1 %9 "edl g5 areal =i g91idl &7

(1) B >C >F >1I

(2) I" >Br =Cl” > F

(3) I" <Br <ClI" < F~

() Br <CI” < F" <I

1[Option ID=717]
2[Option ID=718]
3[Option ID=719]
4[Option ID=720]




Sl. No.56
QBID:1053031

Which of the following pairs 1s an example of 1sobars?
(1) Calcium and Argon

(2) Carbon and Oxygen

(3) Chlorine and Oxygen

(4) Hydrogen and Helium

frferfigd O A &1 |1 m qq 91 T F I 87

(1) Ffeyrm 3k s

(2) A 3R AT

(3) FARH 31 ST

(4) =rEEre s diferan

1[Option ID=721]
2[Option ID=722]
3[Option ID=723]
4[Option ID=724]

Sl. No.57
QBID:1053032

Which one 1s paramagnetic?
(1) Ti0:
(2) S10-
(3) ZrO:
(4) KO-
fferfiaa 06 w1 s 27
(1) TiO:
(2) 510-
(3) ZrO:
(4) KO-

1[Option ID=725]
2[Option ID=726]
3[Option ID=727]
4[Option ID=728]

Sl. No.58
QBID:1053033

AgNOs + NaCl — AgCl + NaNOs What tyvpe of chemical reaction is this?
(1) Synthesis reaction

(2)




Decomposition reaction

(3) Precipitation reaction

(4) Neutralization reaction

AgNO; + NaCl — AgCl + NaNO, 78 stfufsrn fra v &t vomaf=s sfufmmn 27
(1) Hvery syfafan

(2) T HiufRA

(3) AT Al

(4) Tegaras sfufsn

1[Option ID=729]
2[Option ID=730]
3[Option ID=731]
4[Option ID=732]

Sl. No.59
QBID:1053034

Consider the following statements:

Statement (A) : “Energy of Antibonding orbitals is more than the energy of bonding

orbitals bonding”.
Statement (B) : Molecular orbitals are the linear combination of atomic orbitals.

In the light of the above statements, choose the correct answer from the options given below :

(1) Statement (A) 1s true and (B) 1s false
(2) Both the Statements are true

(3) Both the Statements are false

(4) Statement (A) 1s false and (B) 1s true
= 7t wem R o E

FA 1:  wiaemEad e 6 39 et w4 6 391 9 afas el )
w11 anfvas &, WAVSE F61 & s §a9- 26 8

3T FIA F A 4, 7 e T T § ¥ w99 3ugE I w5 =99 fife
(1) Fua 18 2, &fa Faa 1 e 2

(2) e 130 11 EHT 961 &




(3) Fuq [ 3 [ 2F1 714 &
(4) = [ 7o &, ot e 11 |8l &

1[Option ID=733]
2[Option ID=734]
3[Option ID=735]
4[Option ID=736]

Sl. No.60
QBID:1053035

In a first order reaction. the reactant concentration was found to be 0.062 M after 2 minutes.
Determine the half-life of the reaction if the 1nitial concentration of the reactant was 0.84 M.

(1) 8 sec

(2) 16 sec
(3) 24 sec
(4) 52 sec

ferelt wum =ife i sfafsean |, 2 e & @g wfaers argm 0.062 M i) afe st $i anfres
HiZaT 0.84 M of a1 sifafsrar & s7d-z1mg =mmw -

(1) 8 HF-=
(2) 16HF=
(3) 24 HF-2

(4) 324%=

1[Option ID=737]
2[Option ID=738]
3[Option ID=739]
4[Option ID=740]

Sl. No.61
QBID:1053036

If the initial conecentration i1s doubled. the time for half reaction is also doubled. The order of
the reaction is

(1) Zero
(2) First
(3) Second
(4) Third

afg wnfae digan i 20 = fEE A At oy sfufEn 1 wwa ot 2 @ S 210 9% B Al (order)
#i sfufwm 27

(1) A
(2) 9¥H

(3) fzdm™




(4) adm

1[Option ID=741]
2[Option ID=742]
3[Option ID=743]
4[Option ID=744]

Sl. No.62
QBID:1053037

A carbonium 1on has
(1) sp?hybrdization, linear shape
(2) sp?hybndization. trigonal planar shape
(3) sp?hybridization. trigonal planar shape
(4) sp?hybnidization. pyramidal shape
UF FHET9 S H T w87
(1) sp? "0, e smHfd
(2) sp? |, vl HaTa sTFHd
(3) sp? T, TRt THae Ef
(4) sp? "5, frfdm s

1[Option ID=745]
2[Option ID=746]
3[Option ID=747]
4[Option ID=748]

Sl. No.63
QBID:1053038

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  The transport number can be zero or negative at higher concentration of
CdI: solution.

Reason (R) : In CdI: solution. formation of DdIi' 1s the reason for its zero or negative

transport number.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are wrong

(2) Statement (A) 1s wrong and (R) is correct

(3)




Statement (A) is correct and (R) 1s wrong

(4) Both (A) and (R) are correct

=l g1 e[ fou e 2 : vk Hf9EYA (Assertion (A)) % ®9 H fofigd 2 41 g1 39 F101 (Reasons (R)) #

wUH
AT (A) : Cdlz =1t il =t Higd] W A AT F1 °H I F1 FNHF &1 Tl 2|
#1 (R) : Cdlz51e H CdI; =l T=-1 €1 [ 1 F0TleHa: HATHTHARR 1 Rl 2|

I A o AT H, A= foo 1 ferei § | |98 309 =9 Fifse
(1) (A) 3 (R) 2H1 35 2

(2) (A) 3i¥ed 7, 31 (R) #ed &

(3) (A)#Hed 2, oifFd (R) H#acd 2

(@) (A) 30 (R) 24 Hea 2

1[Option ID=749]
2[Option ID=750]
3[Option ID=751]
4[Option ID=752]

Sl. No.64
QBID:1053039

Which type of projection provides staggered and echipsed conformation?

(1) Fischer projection

(2) Newman projection

(3) Wedge projection

(4) Sawhorse projection

o o7& = 9e9v § g0 |idid S Ufgd @599 (staggered and eclipsed conformation) 9TH &d1 27
(1) fher gamm

(2) =HA 9a

(3) oS g&l

(4) 4T e

1[Option ID=753]
2[Option ID=754]
3[Option ID=755]
4[Option ID=756]




Sl. No.65
QBID:1053040

Find the equilibrium constant for the following reaction at 298 K.

H,(g)+ Cl,(g)«——2HCI(g)

Given that AG" 15 —262K.J .

(1) 8.279 = 1013

(2) B.279 x 10%

(3) 4.139 x 104

(4) 4.139 x 1013

e &1 8 fufsEn w1 298 K W H@qen feams = gm e
(1) 8.279 = 1013

(2) B.279 x 10%

(3) 4.139 = 104

(4) 4.139 x 1015

1[Option ID=757]
2[Option ID=758]
3[Option ID=759]
4[Option ID=760]

Sl. No.66
QBID:1053041

Williamson ether synthesis 1s an example of

(1) El reaction

(2) E2 reaction

(3) Sxl reaction

(4) Swn2 reaction

faferaam $or wverm = 3 & w1 ©F e 2 -
(1) E1 sfufan

(2) E2 wiufsal

(3) Swl st

(4) Sn2 HAfaiFm

1[Option ID=761]
2[Option ID=762]
3[Option ID=763]
4[Option ID=764]




Sl. No.67
QBID:1053042

Two moles of ammonia gas are introduced into a previously evacuated 1 L flask in which it
partially dissociates at high temperature as

2NH ,(g)e——> N (g)+3H (g)
At equilibrium 1 mole of NH ,(z) is found. What is Kc?
(1) 0.75
(2) 1.5
(3) 1.7
(4) 0.46

2 " (moles) Wi A9 i w5 ® @t 1 e (11) $i Foft (ves) & =en o 81 98 3= a9 W
FEET S T H GHEE F AR

2NH ,(g)e—— N, (g)+ 3H,(g)

HATH W 1 A Wi 1 9t 81 Ke %1 99 g e

(1) 0.75

(2) 1.5

3) L7

(4) 0.46

1[Option ID=765]
2[Option ID=766]
3[Option ID=767]
4[Option ID=768]

Sl. No.68
QBID:1053043

The bromination of trans-2-pentene using CCli as solvent and FeBra as catalyst, forms the
product

(1) Single enantiomer of 2,3-dibromopentane

(2) Diastereomers of 2,3-dibromopentane

(3) Racemic mixture of 2,3-dibromopentane

(4) Two enantiomers 1n a ratio of 70:30

CCly #! e 3 FeBrs &1 3c0%H o ¥4 H 394M Fd g0 ZFH-2 -1 & IR0 § F1 3e012 91
BRI Y

(1) 2.3-SEAHI=24 %1 Uhed UidTeraey (Ua-A3mT)

(2) 2.3-STgalmry=eA 1 it Hfan quEga

(3) 2.,3-2TESHM=A F frafae ol

(4)




70:30 % HJ9Td H 51 vhied Tfdfararey

1[Option ID=769]
2[Option ID=770]
3[Option ID=771]
4[Option ID=772]

Sl. No.69
QBID:1053044

The nuclear reaction ; H +; H —; He is called
(1) Fission reaction

(2) Fusion reaction

(3) Thermal reaction

(4) Chain reaction

frafafiga & @ wfefm wfafFn 2w 22 0 S 'pe 70 FEA 27
(1) fa@vea (Fission) wfafsen

(2) #e=A (Fusion) Sfafsm

(3) i wihfE

(4) #Eer it

1[Option ID=773]
2[Option ID=774]
3[Option ID=775]
4[Option ID=776]

Sl. No.70
QBID:1053045

Which of the followings will form a basic buffer?

(1) 1N NaOH solution

(2) A mixture of HCl and NaOH

(3) A mixture of NH4Cl and NH«OH

(4) A mixture of CH:COONa and CHz2COOH

frferfaa 19 91 v e svgufans (sfas aw) s=mm?
(1) 1N NaOH faeraq

(2) HCI 31 NaOH #1 fagm

(3) NH4CI 3fl7 NH4OH #1 fuzm

(4) CH3;COONa 311 CH:COOH =1 fgm

1[Option ID=777]
2[Option ID=778]
3[Option ID=779]
4[Option ID=780]




Sl. No.71
QBID:1053046

Which of the following compounds is isomeric with 2, 2, 3, 4-tetramethylpentane?
(1) 3-Ethyl-2.2-dimethylpentane
(2) 4-Isopropyvlheptane
(3) 4-Ethyl-3-methylheptane

(4) 4.,4-Diethyl-3-methylheptane

frferfiaa U | =1 = 91 2,2, 3,4 Ze0HaEad=2A & 71y quEd 27

(1) 3-39Ed -2,2- EEuEe 1=

(2) 4-37TEH1 9193 22A

(3) 43UEdA-3-TumEa g2

(4) 447239133 -faumEa 22

1[Option ID=781]
2[Option ID=782]
3[Option ID=783]
4[Option ID=784]

Sl. No.72
QBID:1053047

As per Gibbs phase rule, the degree of freedom 1s
(1) F=C-P+2

2) F=C+P+2

3) F=C-P+3

4 F=C-P-3

firest wreen fam & sEm, Taaa i SifE w3 a7 -
(1) F=(£—-P+2

(2) F=C+P+2

3) F=C-P+3

(49) F=C-P-3

1[Option ID=785]
2[Option ID=786]
3[Option ID=787]
4[Option ID=788]

Sl. No.73
QBID:1053048

Among the following conformers, which one has the lowest energy?

(1)




H
H CHy
H CHy

CHy
H
H H
(2)
H,C CH,4
CH,
H
H
(3)
H,C CH.
H CH,,
CH,
H CHy
(4)
H H
CH,
Jferfiad HET (conformers) U 4 g 1 39 ERGE 27
H
i CH.,
(1)
H CH,,
CHy
H
H H
(2)
H.O CH,4
CH,
H
H
(3)
H,C CH.
H CH,
CH,
H CHy
(4)
H H
CH,

1[Option ID=789]
2[Option ID=790]




3[Option ID=791]
4[Option ID=792]

Sl. No.74
QBID:1053049

Who arranged the periodic table of elements 1n the increasing order of atomic masses?
(1) Henry Moseley

(2) Albert Einstein

(3) Dmitri Mendeleev

(4) Thompson

fere mTo]—TE % Sgd @y o STHER dodi ol sad awof syafeim 7

(1) = grsrel

(2) Fed? HTEAH

(3) =mf a=efa

(4) TP

1[Option ID=793]
2[Option ID=794]
3[Option ID=795]
4[Option ID=796]

Sl. No.75
QBID:1053050

Equal masses of polymer molecules with M, = 10000 and M, = 100000 are mixed together.

The number average, ﬂfn and the mass average, M, are

Statement (I) : M, =18182

Statement (I) : M, = 55000

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (I) and (II) are wrong
(2) (I) 1s wrong and (II) is correct

(3) (I) 1s correct and (II) 1s wrong

(4) Both (I) and (II) are correct




A= 71 #oa Bu o #| e geeE F @ 9Ees A M, - 10000 I M

(feremn) S &1 S wea M| s geAmee WA M, %1 AH

w1 : M, = 18182

FEI: M, = 55000

= 100000 EFT ﬁlﬁlﬁ T

IR FUA & e 4, J 7 T e § F e 39g 3w 99 i

(1) &y I 3 IS Terd 2
(2) FeF [7eAd 2, i e 18 2
(3) U IHE 2, effehd Figd I17erd 2

(4) #9933 IIaE 9 2

1[Option ID=797]
2[Option ID=798]
3[Option ID=799]
4[Option ID=800]

Sl. No.76
QBID:1053051

Which of the following diseases 1s not caused by bacteria?
(1) Syphilis

(2) Tuberculozis

(3) Leprosy

(4) Hepatitiz

(1) rdre (Fafsfem)

(2) il

(3) B

(4) difern

1[Option ID=801]
2[Option ID=802]
3[Option ID=803]
4[Option ID=804]

Sl. No.77
QBID:1053052

The B - oxidation takes place in

(1) Mitochondria




(2) Glvoxysomes

(3) Chloroplasts

(4) Both Mitochondria and Glyoxysomes
frafafan 4 @ frm ° p-rfdim 2 27

(1) S

(2) TABRHFHHTH

(3) =facas (Flrenz)

(4) T3 ATRITHEH SR RV S

1[Option ID=805]
2[Option ID=806]
3[Option ID=807]
4[Option ID=808]

Sl. No.78
QBID:1053053

The only connective tissue without fibroblasts 1s
(1) Blood

(2) Areolar connective tissue

(3) Cartilage

(4) Bone

U AT -8 HTsf e 2 -

(1) T

(2) ufteEdm (ufsten) G4 HaE

(3) IurfEy

(4) #fy

1[Option ID=809]
2[Option ID=810]
3[Option ID=811]
4[Option ID=812]

Sl. No.79
QBID:1053054




(Given below are two statements :

Statement (A) :  Riboflavin 1= often called as Vitamin G.

Statement (B) :  Biotin is also known as Vitamin K.

In the light of the above statements. choose the correct answer from the options given below :
(1) Statement (A) 1s correct and (B) 1s wrong

(2) Statement (A) 1s wrong and (B) 1s correct

(3) Both are correct

(4) Both are wrong

A= 7w fw Mo #

FE ] TEEEA w5 e Fefm G wE

Faq [1:  aEifed =i faefim K o == 21

I o & A 9, 919 Gu T e § F 99" I I w5 =99 Fif

(1) 94 [9# 2, oife &9 117 2
(2) 94 I7TeTd 2, dfeFa uq [T 98 2
(3) Fuq IR IIEH 92

(4) YA I 3 IS 7Ted &

1[Option ID=813]
2[Option ID=814]
3[Option ID=815]
4[Option ID=816]

Sl. No.80
QBID:1053055

Tissue plasminogen activator 1s involved 1n
(1) wound healing

(2) 1mmunity

(3) allergy response

(4) breakdown of clots in blood vessels

Fas® WAsHAIA aiRas e § afmfed wa 2e

(1) =19 F1 HA=F1 F4 1




(2) yfqeq o

ORGEIEINIGIER IR

o S L UL

(4) T FfeRial 0 951 H1 4EA

1[Option ID=817]
2[Option ID=818]
3[Option ID=819]
4[Option ID=820]

Sl. No.81
QBID:1053056

Respiratory quotient. R.Q.. 1= represented by
(1) 02/CO:

(2) N/C

(3) C/N

(4) CO2/02

vaH WITEA, R.Q., H1 fFreferfiam @ aufan s 2
(1) 02/CO2

(2) N/C

(3) C/N

(4) CO2/0:

1[Option ID=821]
2[Option ID=822]
3[Option ID=823]
4[Option ID=824]

Sl. No.82
QBID:1053057

Generally, an enzyme 1s a
(1) Vitamin

(2) Lipd

(3) Carbohydrate

(4) Protein

;U UAISH 1 B £ 7
(1) T

(2) faafuz

(3) FralErges

(4) 91




1[Option ID=825]
2[Option ID=826]
3[Option ID=827]
4[Option ID=828]

Sl. No.83
QBID:1053058

A cell membrane has

(1) middle electron dense layer

(2) middle electron transparent layer

(3) outer electron transparent layer

(4) 1nner electron transparent layer
EHERECIR A

(1) wHwg seiagA gaa 9@

(2) W=y geeel UnEs WA

(3) TR S AREET WA
(4) =R FeiEgE TEsT T

1[Option ID=829]
2[Option ID=830]
3[Option ID=831]
4[Option ID=832]

Sl. No.84
QBID:1053059

Humoral immunity 1s provided by
by

(1) Epitopes/antigens
(2) B cells/T cells

(3) T cells/B cells
(4) Antigens/Antibodies

WA (FHFA) Tieq1 sae

o T =il 21
(1) ufErs / g

(2) BIfsrEprd [ T ifem
(3) T Tk /B wifsrHmn

(4) ufes [ ufeed

1[Option ID=833]
2[Option ID=834]

while cell-mediated immunity 1s mainly provided

T UTH el @ SEfE Ffvm-mieaa ufael awa ged:




3[Option ID=835]
4[Option ID=836]

Sl. No.85
QBID:1053060

Which among the following 1s the longest phase of cell-division?
(1) Metaphase
(2) Anaphase
(3) Prophase of melosis-I
(4) Prophase of mitosis
Frferfan & & = = wEeen Fifien Tuee & qe @l 26 27
(1) Hrhs
(2) UATES
(3) wEIfEE-1 (sTHdeEm-1) 1 Wk
(4) HIZHE-1 (H9HAVI- 1) 1 9TF

1[Option ID=837]
2[Option ID=838]
3[Option ID=839]
4[Option ID=840]

Sl. No.86
QBID:1053061

Primers used 1n the process of Polymerase Chain Reaction (PCR) are

(1) Double-stranded DNA oligonucleotide

(2) Double-stranded RINA oligonucleotide

(3) Single-stranded DNA oligonucleotide

(4) Single-stranded RNA oligonucleotide

srgerehia (Aifcreist) gaen sl i giman | 39am fRe STHaTe SRde [ TE A 27
(1) fg-T=ga € ua ., siformgfaasieee

(2) farsgdi sm A v, sifenfFasienre

(3) TS €10 U HifernfFasiene

(4) UFH-TH IUA. U, Sferm=gfaasiergs

1[Option ID=841]
2[Option ID=842]
3[Option ID=843]
4[Option ID=844]

Sl. No.87
QBID:1053062




On hydrolysis and release, the 808 ribosome dissociates into its 4085 and subunits
which are then recyeled.

(1) 205

(2) 3085

(3) 5085

(4) 608

T T A FET W, 80 S TFAEHE F 40 S THEM I ——— 7 JH@FA 7w & A
P BT 21

(1) 205

(2) 3085

(3) 508

(4) 605

1[Option ID=845]
2[Option ID=846]
3[Option ID=847]
4[Option ID=848]

Sl. No.88
QBID:1053063

How many numbers of ATP molecules are produced after complete oxidation of a glucose
molecule in aerobic respiration?

(1) 36

(2) 38

3 2

(4) 8

g -vaed § foreft wopRet a1) o ot st % A e AL st s €7
(1) 36

(2) 38

(3) 2

(4) 8

1[Option ID=849]
2[Option ID=850]
3[Option ID=851]
4[Option ID=852]

Sl. No.89
QBID:1053064

This is a symbiotic free nitrogen fixer,
(1) E.coh
(2)




Bacillus Polymixia
(3) Rhizoha
(4) Azotobacter
TE UF HEeAldl q Aggre AhE 8
(1) 3-FHlel
(2) fem et
(3) it
(4) USRI

1[Option ID=853]
2[Option ID=854]
3[Option ID=855]
4[Option ID=856]

Sl. No.90
QBID:1053065

Which one of the following is chain initiation codon?
(1) UAG

(2) AUG

(3) UAA

(4) UGA

fefetfiaa | 6 #1 JEen-TreH w2 (FeH) 27

1) UAG

(2) AUG

(3) UAA

(4) UGA

1[Option ID=857]
2[Option ID=858]
3[Option ID=859]
4[Option ID=860]

Sl. No.91
QBID:1053066

The combining sites on the surface of the lymphocytes are antibody-like molecules called
(1) Antigenic determinants

(2) Antibodies

(3) Antigen receptors

(4) None of these




T i T W WiRE S A 9 Jait U et § 8 #0 weend 87
(1) i fqui

(2) ufeed

(3) Widsm e

(4) =8 & #i5 T

1[Option ID=861]
2[Option ID=862]
3[Option ID=863]
4[Option ID=864]

Sl. No.92
QBID:1053067

In December 2020, first vaceine for COVID — 19 was approved in Europe and USA. Which
was the first biotechnology company to receive the emergency authorization to distribute this
vaceine?

(1) Pfizer — BioNTech

(2) Moderna

(3) Astrazeneca

(4) Novavax

femea 2020 5 T TR .UA.T F FEE-19 F TEcd F6 F SHiFA 5 18 o 3\ I F Few + o
TR AFIHTCTS FFaHT il SATITaRTe A T el ot ?

(1) FEF-AAHF
(2) =rsAl

(3) TEHH

(4) g

1[Option ID=865]
2[Option ID=866]
3[Option ID=867]
4[Option ID=868]

Sl. No.93
QBID:1053068

Burkitt's Lymphoma 1s a fast growing cancer caused by

(1) Monocytes

(2) B — lyvmphocytes

(3) Neutrophils

(4) Eosinophils

Atz THIFEE A OF 09 Td ° THT Fa1 g R 7, FefaiEa | g @ -
(1)




UshchegahTy] (T2
(2) =i —erHi=Fm]
(3) =ZifteH

(4) =zaifgaiees

1[Option ID=869]
2[Option ID=870]
3[Option ID=871]
4[Option ID=872]

Sl. No.94
QBID:1053069

A holoenzyme 1s composed of

(1) Apoenzyme and Co-enzyme

(2) Co-enzyme and Prosthetic group
(3) Apoenzyme and Zyvmogen

(4) Prosthetic group and Co-factor
i ursITEH / EetiussiTes foad s 2 27
(1) UYU=SATEH T HE-U-ATEH /5] - U130
(2) HE-U=ATEH W TRfEE 792

(3) UHIU=IEH S SR

(4) UrEdfeF gz 3 Ha-FEa (-

1[Option ID=873]
2[Option ID=874]
3[Option ID=875]
4[Option ID=876]

Sl. No.95
QBID:1053070

The humoral immune system defends mostly against bacteria and viruses in the
(1) Body fluids

(2) Regions beneath the skin

(3) Internal organs

(4) Digestive track

e Wiatiea @ sAfaswat A= i e 8 § wn e § -

(1) =7 7 (a3 73)

(2) e il Hez & = %

(3) syrericar sm




(4) TT=E Y (TREAT)

1[Option ID=877]
2[Option ID=878]
3[Option ID=879]
4[Option ID=880]

Sl. No.96
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Which of the following vitamin is essential for clotting of blood?

(1) VitA

(2) Vit C

(3) VitD

(4) VitK

e Tahaq o oo fefafiaa § 9+ w1 faerfas sravgs 27
(1) fagerfos u’

(2) faeiy =i’

(3) faerfug &Y

(4) faeim ‘s

1[Option ID=881]
2[Option ID=882]
3[Option ID=883]
4[Option ID=884]

Sl. No.97
QBID:1053072

Which endocrine gland 1s involved 1n circadian rhythms?
(1) Thymus gland

(2) Pineal gland

(3) Islets of langerhans

(4) Pituitary gland

19 Hi 37a; @ ufy mERteaa meawy 4 afmied g 27
(1) a7EHH 1Y

(2) Tafae uefi

(3) ©EH g (i)

(4) e iy

1[Option ID=885]
2[Option ID=886]




3[Option ID=887]
4[Option ID=888]

Sl. No.98
QBID:1053073

Which of the following hormone 1s produced/released from the posterior pituitary gland?
(1) Aldosterone

(2) Oxytocin

(3) Glucagon

(4) Corticotropin

f=Afeifiaa 4 | &[ W1 srur Ty 11y uf-2 g Jearfed /e s 27

(1) UFSEAA

(2) HRfEA

(3) THMH

(4) FifEFiiE

1[Option ID=889]
2[Option ID=890]
3[Option ID=891]
4[Option ID=892]

Sl. No.99
QBID:1053074

Mendelian recombinations are due to
(1) Independent assortment of genes
(2) Mutation

(3) Dominance

(4) Linkage of genes

He2foram qaTsH 1 FR 2 2

(1) =9 =1 w=Fdd i)

(2) FeufeEda

(3) g

(4) S i HEerad

1[Option ID=893]
2[Option ID=894]
3[Option ID=895]
4[Option ID=896]

Sl. No.100
QBID:1053075

The class of immunoglobulins which can cross the placenta 1s




1) 1G
(2) IgA
(3) IgD
(4) IgM
HAEIA (wid=21) I U0 L Tehd JTeA WfeaATasgier &1 F91 Fad 8 7
(1) IsG
(2) IgA
(3) IgD
(4) IgM

1[Option ID=897]
2[Option ID=898]
3[Option ID=899]
4[Option ID=900]




